Name:

Classpractice !

Deconstructing Equations

1z

S(10+d

=470 -» H(d+20):420

Period:

Construct story of Deconstruct Solving Process Verification
DMaD DOV by5 G0 5(d+zzc3
' ' B (Y4
Dius @A D] 5 g | Sl
Ao | W0
7 P, NVerse
2. -Z——-LT"' - /]
Construct story of Deconstruct Solving Process Verification
DVt Dy 2 (DM by ‘(zx ) |25
q ]
Did1 (Dbt ? | i | 2992
(3 0wy pydd Dty 27255 |
2% =Zp 20tL £
= i, T
x=1% | 28
3. m,:;)-’—q',, 74 i
Construct story of Deconstruct Solving Prf)c-ess Verification
Dbt (DM bu 5 (mé”},’(zq) IZ?
(DDWde by 19) hod st i | g
+L’ +4 5




Name:

Clacs Prachce |

Dﬁ o Period:
4 8 -~
Construct story of Deconstruct Solving Process Verification
DA% (DWW 3/&?2)( L) |-51+3
2) DI B ) ot 3 ©
nt2--4g _4g
..5 -3 3
) = -5l =,
5. —6(b‘\'q)"'20
5T (DDA 5| EB 20/ 5]
DU bu-5 (Dbt 9 AR
@W\ b5 | bt =4 | -20
-9 -9
by & =5
6. 6-&%:, =q ‘9-)(:4-1"'5:(3
T @b T i 529 257 5
B W@OW\M*W 5| +5 % _]% +3
Brds> D b("”){‘”) A
x+7'48 lo+3
~Z5 T




Name:

Class Prachee 7 ...

Deconstructing Equations

L 2FUG- L D Ha+2:0

Construct story of Deconstruct Solving Process Verjﬁcation
Mt bydDoubt 5 [Hat2=% [H(Z)+3
DNAS  (Dowvidebyd| y, 23 | 3t3
Sl o
a:3
. _% +2)( : I’] —_'7 ZX +% : l/S, lving Process Verification
D MWt byZ Dbt % IX¥ 2[5+
-y -
DAL @omdbyz| 3 3| B4
X=%3 | 1T
3
2)( :2‘4-‘1
. ﬂl-l’*) -, . , l _P 3(3(+2) - ; ’Il' P ce:LsE Verification
DAz (Ofd! 12000121 13(242)-)
OMUEZ  (DDVALBUD)| 500y.00 | B(HD-
Pabt!  Pwptz | T3 3 | 12
X+% ="-7l_




| 155

Wachce L

Name: % Period:
i " | s 9
4. e k ‘j ‘%‘ L 1 :} \\"Lrgr \ Lﬁ - ‘ 4 »f‘;J "’ " o v
% tY e
Construct story of Deconstruct Solving Process Verification

- o

Y N\ A iy i 1
W AR )
i Jc:“,%?«”’; ‘,'.Jg | &

B
I\ U
{ D) ITHRAT 19Y]
W ]

A0 ~ 1,
o\ (. ~L |
7/ 1 ) ’ﬂ \"; W‘?%" i‘ 4
L)VOT 1 &

g
{ j
k

7T N ” ‘
] /4 \ J | 1
i :‘k 4 \ A Va 1 /
ot BW. /
] s 4
/I NSNS ' &
|

x-12- -4
117 +12

iy
ZR
Yo

H(z)-12
8-12
-4

124k 1D B - lox 12 =719

Construct story of

Deconstruct

Solving Process

Verification

DMl by -l
(D subt 12

(O Add 12
DD byt

“Wi)-1Z

-%-12
-15

e B-10¢* % 47 -10X +8=3

Construct story of

Deconstruct

Solving Process

Verification

(;) Mt bq -0

Subt &
Diviou l?g

-10(L)+8
~540
2




